
 

 

 



 

 

 

 

 

• 

𝑠𝑖𝑔𝑚𝑜𝑖𝑑(𝑥) =
1

1+𝑒−𝑥 

• 

𝑔(𝑋) = 𝑠𝑖𝑔𝑚𝑜𝑖𝑑 (𝛼 +  𝛽𝑋)

α

β



 

 

 

 

𝑠𝑖𝑔𝑚𝑜𝑖𝑑(𝑥) =
1

1 + 𝑒−𝑥 
=  

1

1 + 0 
= 1

 

𝑠𝑖𝑔𝑚𝑜𝑖𝑑(𝑥) =
1

1 + 𝑒−𝑥  
=  

1

1 + ∞ 
= 0

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

TF = 1 + log(𝐹𝑡,𝑑) ,   𝐹𝑡,𝑑 > 0

𝐹𝑡,𝑑

 

IDF = log (𝐷
𝑑𝑓⁄ ) 

 



 

 

 

𝑊 = 𝑡𝑓 x 𝑖𝑑𝑓



 

 

 

 



 

 

 



 

 

 

 



 

 

 



 

 

 

 



 

 

 



 

 

 

 

 

𝑇𝑟𝑢𝑒 𝑃𝑜𝑠𝑖𝑡𝑖𝑣𝑒

𝑇𝑟𝑢𝑒 𝑃𝑜𝑠𝑖𝑡𝑖𝑣𝑒+𝐹𝑎𝑙𝑠𝑒 𝑁𝑒𝑎𝑡𝑖𝑣𝑒

𝑇𝑃

𝑇𝑃+𝐹𝑁
=  

105

10+25+105
=  

105

140
= 0.750

𝑇𝑃

𝑇𝑃+𝐹𝑁
=  

11

11+10+28
=  

11

49
= 0.224

𝑇𝑃

𝑇𝑃+𝐹𝑁
=  

52

6+52+48
 =  

52

106
= 0.491

(49×0.224)+(106×0.491)+(140×0.750)

49+106+140
=  0.569 x 100% = 56.9%

 

𝑇𝑟𝑢𝑒 𝑃𝑜𝑠𝑖𝑡𝑖𝑣𝑒

𝑇𝑟𝑢𝑒 𝑃𝑜𝑠𝑖𝑡𝑖𝑣𝑒+𝐹𝑎𝑙𝑠𝑒 𝑃𝑜𝑠𝑖𝑡𝑖𝑣𝑒

𝑇𝑃

𝑇𝑃+𝐹𝑃
=  

105

28+48+105
 =

105

181
= 0.581

𝑇𝑃

𝑇𝑃+𝐹𝑃
=  

11

11+6+10
 =

11

27
= 0.407

𝑇𝑃

𝑇𝑃+𝐹𝑃
𝑥 =  

52

10+52+25
=

52

87
= 0.598

(27×0.407)+(87×0.598)+(181×0.581)

27+87+181
=  0.557 x 100% = 55.7%

 

𝑇𝑟𝑢𝑒 𝑃𝑜𝑠𝑖𝑡𝑖𝑓+𝑇𝑟𝑢𝑒 𝑁𝑒𝑔𝑎𝑡𝑖𝑣𝑒

𝑇𝑜𝑡𝑎𝑙 𝐷𝑎𝑡𝑎
 𝑥 100% =  

168

295
 𝑥 100% = 56.9%



 

 

 



 

 

 

 



 

 

 


